5 peroroRs BODMAS

Name - Starttime-_ _:__ End time-_ _:

Solve the following questions :
1. Which calculation has the largest value?

a) 7+6—-4x3 ~ ™
b) 7x6-4+3
c) 7-6+4x3
d 7x6+4-3
e) 7+6x4-3
o /

2. What is 420 = (60 x 3.5) ?

3. Christopher wants to work out how much it will cost for his
family to go to the cinema. They need tickets for 2 adults, 1

student, 3 children and 2 seniors. Ticket Prices
Circle the option below which will Adult £4.95
complete this calculation to find the Child £2.95
total cost of the tickets: Student £3.95
3x£3+3 x£4+2 X £5 Senior £3.95
+40 p -40p - 60p +50 p +60 p

4. Whatis3x5+15+5=

5. Whatis 89 x 296 + 11 x 296.? Circle the correct answer.

42560 2344 29600 39200 58080

6. Which of these expressions has the smallest answer ?

a) 90+30:15-5 A
b) 90+30-15+5

c) 90-30+15+5

d) 90-30+15+5

e) 90+30+15-5 \_ J
\ 2 3 5 6 8 9
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